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A AEIJT Ba/om’ [ cpm | Ba/om’ [ cpm |Ba/em? | com |Basom® | com |Basom? | com |Basom®| cem |Basom®| com |Basom?| com |Basem?| com |Basem?| com |easom?| com |Basem?| epm
1 [EEF B PR AT <104 | 70 |<1.04| 70 [<1.04 | 80 |<104| 80 |<1.04| 80 |<1.04| 80 |[<1.04| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<092| 70
2| AR ERAERT <104 | 70 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<i.04| 80 [<1.04| 80 |<1.04| 80 [<092| 80 |<092| 90 |<092| 80 |<o96| 80 |<092| 80
HEHARELETUT <104 | 70 |<1.04| 70 |<1.04 | 80 |<1.04| 80 |<i.04| 80 |[<1.04| 80 |[<104| 70 |<092| 80 |<092| 90 |<092( 90 |<o96| 80 |<092| 80
4 EEDRELETYT. <1.04| 80 |<1.04| 70 |<1.04]| 80 |<i.04]| 80 |<1.04| 80 |<i04| 80 |<1.04]| 80 |<092| 70 |<092| 90 |<092| 90 |<096| 90 |<092| 70
5|%ME[  1TU7 <1.04| 80 |<1.04| 70 |<1.04| 70 |[<1.04| 70 |<1.04| 80 |<1.04| 70 |<1.04| 80 |<092| 70 |<092| 80 |<092| 70 |<096| 80 |<092| 70
6|t 2— (AR) thRAFE T 7 <104 70 | <1.04| 70 |<1.04] 70 |<104]| 70 |<1.04| 80 |<1.04| 80 |<1.04]| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 90 |<092| 70
T|HK B ER R <1.04| 80 |[<1.04] 70 |<1.04| 70 |<1.04| 70 |<1.04] 70 |<i04| 80 |<1.04| 80 |<092| 70 |<092| 70 |<092| 80 |<096| 90 |<092| 70
8|EEFLRERLIT <104 | 70 |<1.04| 80 |[<1.04( 80 |[<1.04| 70 |<i.04| 70 |<1.04| 70 [<1.04| 70 |<092| 80 |<092| 90 |<092| 80 |<096| 90 |<092| 70
. 9|FFY E4&ARKRAFTAT <1.04] 70 |<1.04| 70 |<1.04| 80 |<104| 70 |<1.04| 80 |<1.04| 70 |<i04| 80 |<092| 80 |<092| 70 |<092| 90 |<096| 80 |<092| 80
10|78 BHESEKRARRAT <1041 70 [<1.04| 70 | <1.04 [ 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |[<1.04| 70 |<092| 70 |<092| 70 |<092| 90 |<096| 90 |<092| 80
11 [$FEErI = <104 70 | <1.04| 80 |<1.04]| 70 |<104]| 70 |<104| 70 | <104 70 |<1.04| 70 |<092| 70 |<092| 70 |<092| 70 |<096| 80 |<092| 70
12|JAEAS HT M ER 35 — P& #R B BR <1.04| 70 [<1.04(-80 |<1.04| 70 |<1.04| 70 |<1.04[ 70 |<i.04| 70 |<i04| 80 |<092| 70 |<092| 70 |<092| 70 [<096| 80 |<092| 80
13|JAEAS HT TR SE— 1R B A E R <104 ] 70 [<1.04| 80 [<1.04| 80 |<1.04| 70 |<i.04| 70 |<1.04| 70 |<1.04| 80 |<092| 80 |<092( 70 |<092| 70 |<096| 80 |<092| 80
14|F8F9 &b 2—hATET <104] 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04| 70 |<1.04| 80 [<1.04| 80 |<092| 80 |<092| 80 |<092| 80 |<096| 90 |<092| 80
15[ ShHLEERBIY7 <104 80 |<104| 70 [<i04| 70 |<i04| 70 [<104| 80 |<104| 80 |<104| 80 |<092| 80 |<092| 70 |<092| 80 |<09s| 90 |<o92| 80
16 R3EE[ALY7 <104 | 80 |<t104]| 70 [<104]| 70 [<104| 70 [<10a| 70 <104 70 |<i0a| 70 [<092| 70 [<092| 70 |<092] 70 [<096| 90 | <092 70
17 (AR R L R R E R DAL SER <1.04] 80 |[<I.04]| 80 |<I1.04| 70 |<1.04| 70 |<1.04| 80 |<i04| 80 |<1.04| 70 |<092| 70 |<092| 70 |<092| 70 |<096| 90 |<0s2| 70
18RRI R EEREDER S 58 <1.04| 70 |<1.04| 80 |<i.04| 80 |<104| 80 |<i.04| 80 |<1.04| 80 |<1.04| 70 |<092| 80 |<092| 90 |<092| 90 |<096| 80 |<092| 80
19| RREEHFEAD <1.04| 80 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<i.04| 70 |<1.04| 80 |<1.04| 80 |<092| 80 |<092| 70 |<092| 80 |<096| 80 |<092| 80
20(RREZREBAEAD <104 70 | <1.04| 80 |<I.04| 80 |<1.04]| 70 [<1.04| 70 .| <104 70 |<1.04| 80 |<092| 70 |<092| 70 |<092| 80 |<096| 90 |<092| 8o
2| [RREEFAEEIZTY7 <1.04| 80 |<1.04| 80 |<1.04| 70 |<1.04]| 70 |[<1.04| 80 |<1.04| 70 |<1.04| 80-|<092| 70 |<092| 70 |<092| 80 |<096| 90 |<092| 70
2| RBEEEHAON <104] 70 |<1.04]| 70 |<1.04 | 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04| 70 |<092| 70 |<092| 90 |<092| 80 |<096| 80 |<092| 80
231 ~4 S AEBRER S —b <104 70 |<1.04| 70 [<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<092| 70 |<092| 70 |<092| 70 |<096| 90 |<092| 70
24| iB/ER S —b <104 | 80 |<1.04| 80 |<1.04| 80 |<i104| 70 |<1.04| 80 |<1.04| 80 |<1.04| 70 |<092| 80 |<092| 90 |<092| 80 |<096| 80 |<092| 80
25|1~4SHPPRIGEYERY —k <1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04| 80 |[<I04| 80 |<1.04| 80 |<104| 70 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<092| 8o
26| REREMY —b <104 | 70 [<1.04| 70 |<1.04| 80 |<1.04| 80 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<092| 70 |<092| 90 |<092| 90 |<096| 90 |<092| 70
27(1./ 25 BABAMER Y —h <104 | 80 |[<1.04| 70 |<1.04| 70 |<1.04| 70 |<i.04| 70 |<1.04| 80 |<1.04| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<092| 70
28 (55 HA—E R BRIEEEG <104 70 |<1.04| 70 |<1.04| 80 |<i.04| 80 |<1.04| 80 |<1.04| 70 |<1.04| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<o092| 80
29(5/65 9 —ERREBADR <104 ] 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04]| 80 |<1.04]| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<092| 80
30|65 A—EVEBARMIBIHA ORLER <104 70 | <1.04| 80 |<1.04| 80 |<1.04]| 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<092| 80 |<092| 80 |<092| 80 |<096| 80 |<092| 80
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= RlE S Ba/om’ | cpm |Ba/om’ | cpm |Basem2| cpm |Ba/om®| com |Ba/om?| com |Basom?| com |Basom?| com |Basom?| com |Basem?| com |Basom?| com |Basom?| com |Basemt| epm
31|65 T /BATELEIH <104 | 80 |<1.04| 80 [<104| 70 |<1.04]| 80 [<1.04| 80 |<1.04| 80 |<104| 80 |<092| 80 |<092| 80 |<092| 80 |<096| 90 |<092| 80
32(JLEFAOEFTST—h <104 80 |<1.04]| 80 |<1.04| 70 [<1.04| 70 |<1.04| 70 |<104| 70 |<1.04| 70 |<092| 70 |<092| 80 |<092| 90 |<096| 90 |<092| 80
33| B ABENER IR B AT <104 | 80 [<1.04) 80 |<1.04| 70 |[<1.04| 70 |<i.04| 70 |<104| 70 |<104| 70 |<092| 70 |<092| 70 |<092| 80 |<096| 80 |<092| 70
34| HIRIBURRAFRAT <104 80 |<1.04f 70 |<1.04 | 70 [<1.04| 80 |<1.04| 80 |<i04| 80 |<i04| 80 |<092( 70 |<092( 70 [<092 80 |<096( 90 |<092| 80
35| JB a5 B A BESE M BENER R 2 R T <1.04| 70 |<1.04( 80 |[<1.04| 80 |<1.04| 80 |<I1.04| 70 |<1.04| 70 |<1.04( 80 |<092( 70 [<092| 80 |<092| 70 |<096| 90 |[<092| 80
36|7U—2 Ty Nol GREAEASEAD) <104 70 [<1.04[ 70 [<i04| 70 |<1.04]| 70 |<092| 70 [<092| 70 |<092| 70 |<096| 80 |<092| 70
37| 7= TUF No2(REREEALE) / [ / <104 80 [<i04| 70 [<1.04| 80 |<104]| 80 |<092| 80 [<092| 80 |<092| 70 |<096| 80 |<092| 70
38| 7U—2TyE No3(IREAREEIRH) / / / <1.04 | 80 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<092| 80 |<092| 70 |<092| 80 |<096| 90 |<092| 80
39| 7= Ty Nod(FREEAEEEIFLE) / / / <1.04 | 80 | <104 70 |<104| 70 |<1.04| 70 |<092| 70 |<092| 70 |<092| 80 |<096(| 90 |<092| 80
40|7—>Tv¥F NobS(IRERAREIRILE) / / / <104 70 <104 70 |<1.04| 70 [<104| 70 [<092| 70 |<092| 80 |<092| 70 |<096| 90 |<092| 80
H|TU—2Tu% Nob(RELRERAMN) / / / <1.04| 80 |<i.04| 80 [<1.04| 70 [<104| 70 [<092| 80 |<092| 70 |<092| 70 |<096| 90 |<092| 80
2|7)—2TvH Nol(EREFTY) <1.04 | 70 | <104 70 |<1.04| 70 |<1.04| 70 |<092| 80 |<092| 90 |<092| 90 |<096(| 80 |<092| 70
43|17U—TyF No8(HHERAFRHE) <1.04] 70 | <104 80 |<i.04| 80 |<1.04]| 80 |<092| 70 |<092| 90 |<092| 90 |<096| 90 |<092| 70
44|17U—>T ¥ No9(HIERARE) / / / <1.04] 80 |<104| 80 |<i04| 80 |<1.04| 80 |<092| 80 |<092| 80 |<092| 80 [<096| 90 |<092| 80
45| 7= T % Nol0(fREEFTY) / / / <1.04] 70 | <104 70 |<104| 70 |<1.04| 70 |<092| 80 |<092| 70 |<092| 80 [<096| 90 |<092| 70
46|71—>T ¥ No.l i (FIE2AFKME) / / / <1.04] 70 | <104 80 |<104| 80 |<104]| 70 |<092| 70 |<092| 80 |<092| 70 |<096| 80 |<092| 70
47|17U—>T % Nod2(fRERAERE) / / / <1.04] 80 |[<104| 80 |<1.04| 80 |<104]| 70 |<092| 70 |<092| 70 |<092| 70 |<096| 80 |<092]| 70
48|7U—>TyF Nol3(REAFTY) / / / <104 70 | <104 70 [<1.04| 70 |<1.04| 70 |<092| 70 |<092| 90 |<092| 80 |<096| 80 |<092| 70
49|17U—Tvx Nol4d(REAFTY) / / / <104 | 70 |<toa| 70 |<1oa| 70 [<ioa]| 70 [<092| 70 |<0s2| 70 |<002| 70 |<096| 80 |<002| 70
50|7Y—F vk No.l5({REEAFRE) <104 70 | <1.04| 70 | <1.04| 80 |<1.04| 80 |[<092| 80 |<092| 70 |<092| 70 |<096| 90 |<092| 80
51|7IL—Tv¥ No. 1(EEm) <104 70 |<1.04)| 80 |<I.04| 80 |<1.04| 80 |<1.04| 70 |<104| 80 |<i04| 8 |<092| 80 |<092| 80 |<092| 80 |<096| 90 |<092| 80
52| I—TvF No. 2(JL—F%) <104 | 80 |<1.04] 80 |[<1.04| 70 |<1.04| 80 [<1.04| 80 |<1.04| 80 |<1.04| 70 |<092| 80 |<092| 110 [<092| 90 |<096| 80 |<092| 70
53| 7)IL—Tv¥ No. 3(FFY) <1.04| 80 |<1.04| 70 [<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<092| 80 |<092| 90 |<092| 90 |<096| 80 |<092| 80
54| TIL—Tv¥ No. 4(FFY) <104 | 80 [<1.04]| 70 |<1.04| 70 |<1.04| 70 |<i.04| 80 |<104| 70 |<104| 70 |<092| 70 |<092| 70 |<092( 80 |<096| 80 | <092| 80
55|7IL—Tv¥% No. 5(FTFY) <104 | 80 |<1.04]| 80 |<i1.04| 70 |<i04]| 70 [<1.04| 70 |<1.04| 70 |<104| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<092| 70
567 IL—FTv¥ No. 6(FFVY) <104 | 70 |<1.04| 70 |<1.04| 70 [<104| 70 |<i.04| 70 |<1.04| 70 |<1.04| 70 |<092| 70 |<092| 70 |<092| 70 | <096 80 |<092| 70
57|7I—Tv% No. 7(FFY) <104 | 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 [<1.04]| 70 |<i04| 80 |<1.04| 70 |<092| 80 |<092| 70 |<092| 70 |<096| 90 |<092| 80
58[FIL—FYF No. 8(FFY) <104 | 80 |<1.04| 80 |<104( 70 [<1.04| 70 |<1.04| 70 |[<1.04| 80 |[<1.04| 80 |<092| 80 |<092| 70 [<092( 80 |<096| 90 |<092| 80
59T IL—Fv¥ No. 9(JL—FUY) <104 70 [<1.04| 80 |<1.04| 70 |<104| 80 |<i.04| 80 |<i04| 70 |<1.04| 80 |<092| 70 |<092| 70 |<092| 80 |<096| 90 |<092| 80
60|7IL—TYF No. 10(FL—F %) <104 70 | <1.04| 70 | <104 70 |<1.04| 80 |<104| 70 [<104| 80 |<104| 80 |<092| 70 |<092| 70 |<092| 70 |<096| 80 |<092| 70
61(FIL—Fv¥ No. 11(FFY) <104 80 |<1.04| 70 |<i.04( 80 |<1.04| 70 [<104| 70 |<1.04| 70 |<104| 80 |<092| 80 |<092| 70 |<092| 70 |<096| 80 |<0982| 70
62(7IL—Tv¥ No. 12(FFY) <1.04| 80 |<1.04| 80 |<1.04| 70 |<1.04| 80 |<i04| 80 |<104| 70 |<104| 80 |<092| 80 |<092| 90. | <092| 90 |<o096| 80 |<092]| 70




